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BBA / BCA-S0O102
B.B.A/B.C.A. DEGREE EXAMINATION, DECEMBER -2024
COMMERCE
Business Organization

(Semester - I) (CBCS Pattern) (New Regulation)

(w.e.f. 2023-2024 Admitted Batch)

Time : 3 Hours Max. Marks : 75

)
SECTION - A

I. Multiple choice questions:
1. Features of business includes :
a) Exchange of goods and services
b) Profit is the main objective
c¢) To satisfy human wants
d) All the above
TR PO OFER0:
@) SRS HOBODHEN
&) ergrey
D) &S 898 DohliHBsEo
&) 59 .
2. Primary aim of Business is to :
a) Help its employees
b) Help society
c) Earn profits
d) Increase business

(30 x 1 = 30)
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3. Industry is related to :
a) Manufacturing of goods
b) Trading
¢) Exchange of goods
d) None of these

DOFD B3 80O RIS T8 HoLODODHO.
D) Yo sard Q) S
) S0Ho 00D &) 3 seth

4. Growing of plants comes under
a) Extractive industry b) Genetic industry
¢) Primary industry d) Secondary industry
S8 HoHEo BR Bots S:oA.

D) 308 & SogsH

d) adiDHog

D) P08 DO

&) & 800 (Ere808) HogD
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5. What is a characteristic of business organization?
a) Limited liability for all members

b) No legal existence

c) Separate entity from owners

d) Perpetual succession not allowed
0 R K0 G0, 08 O HEEI?

D) OO HGH® eI gRGB HOQOBI
B) DN S8 BB

R) opEsmEoe S0k B KR

B) oo THE0B,0 ORHBOTDBD

6. What is a key characteristic of modern business?
a) Resistance to change
b) Local market focus
c) Limited reliance on technology
d) Emphasis on sustainability and digitalization
DG DD CI0E, Hg) oy DR?
D) SR HAFOD
D) RO BROLS
D) DwoSBES D HOLIBOM BERUDESO
&) {80 Hooo BBLBEIS D GRS
7 What is one of the key considerations when

establishing a new business?
a) Market research

b) Sole proprietorship
¢) Franchising
d) Govt. regulations
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8. Sole proprietory business is suitable for :
a) Small business b) Medium business
c) Large business d) All types of business

DeOBTR PO BEROO
D) DPECH RS0 @)  E0G, BB aRaRE0
D) PFESIB @GS &) ©f 5500 RGP
9. An agreement among partners for starting

partnership business can be :
a) Oral b) Written
c) Oral or written = d) None of these

BR300 FREOGTEDODOSE e K30 Ees 2RO
D) &3 Py TR o

?) Ogh8 HpYBomn

D) e Sty RO Bow DgHB GRS o

8) PHesd
10. Which form of business organization has perpetual
successions?
a) Partnership b) Sole proprietorship
¢) Co-operative d) Joint stock company
SA-1097 [4]
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11. Voting rights in a Co-operative are :
a) One man one vote
b) One vote per share hold

c) One vote for a family
d) Related to investments

BBV DOFOH? £>600 SED,),
D) e 588 &8 &k

D) Bot TeeRt & &b

) Hxk00RdS 28 &0

&) EPDOD 0020900
12. The maximum number of members allowed in a
one person company is :

a) 1 b) 5
c) 10 d) 50
&8 5.8 Boadd? 1508) 0gH0 VORy
) 1 d) S
d) 10 &) 50
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13. What is the primary objective of plant location?
a) Maximizing transportation costs
b) Minimizing market access
¢) Reducing labour availability
d) Optimizing efficiency and effectiveness

SROLD EXS AR, FRY ©F ;0 HEEI?

D) Coem 3500 (5030

D) SRS OeS BDd BFOEIO

V) SOHO gL B Bowto

&)  Reioce,R SO0 BEGED OHERODEDON
14. Plant layout refers to the arrangement of :

a) Employees with in a factory

b) Equipment with in a factory

¢) Raw materials in a ware house

d) Finished products in a retail store

aROL5 BOHS OB 53 808 ardd Cheres

D) FREOS &t

D) REES H HosoReR

D) ABgorbeds DY Bl DeRcpen
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15. A good plant layout helps in utilising.
a) Available space b) Available resources
c) Available labour d) Available finance

253009 R0t THES SO0 HORBOLHEFSE0 B350 H0o
X007

D) ©OOLHERENH? &% Yoo

) ©OLERENS’ & SHKe

D) ©OLERENS® &) GV

&) oothermtnd’ &3 55,30 |
16. Plant layout must consider the availability of :

a) Space b) Resources
c) Materials d) Products
&R0t BoHes BHVDOM HE gL ED HOXBowRD.
@) oo Q) Sdthen
Q) PR &) efhen
17. Size of a business unit is related to
a) Capacity b) Investments
c) . Many factors d) Out side factors
DBRD HRDES HOSTPESD HDB KHOLODCDDO.
D) R0 &) Deypexden
D) OIS SBen &) 2ohHd ssen
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18. Optimum size of a business unit 1S

i hieved
a) Maximum profits are ac o
b) Maximum number of employees 18 hired ;
¢) Miximum number of products 18 produce

d) Maximum market share is obtained
06 oL 08, OPORHOD DOBRRO O30 &
DOBREI0 )
D) 05 ergRe) SRODBTE
Q) 50 Vo SBHOD DOHOTDHEIPDE
R) Bog Dog,d SEROD 658 SSHE
&) 505 SROS Tt FODTIE.
19. What is a business combination?
- a) The process of streamling business operations

b) The strategic re-structuring of a company

c) A transaction where two or more business
merge or are acquired

d) The process of nationalizing a business

AR HaD,H:50 @08 DRI ?

D) GRS S BeRaPoD BHadEo0d HBoD

@) oD A, TR HisgR,m0

R) Both B o8BS DK e Beoans Soo
OB BB

8) aeog smbao 3D 98an

the size at which :
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20. What is the primary objective of a business
combination?

a) Eliminating competition

b) Achieving sustained growth and profits
¢) Reducing market share

d) Increasing inefficiencies

RS DD, BS0(B000E) H0g); S@FHO DRoE3?
D) D650 SwBostso
B) OB 5 HOOL) RO YOO
8) BENDHP GBS
21. When firms producing different but allied products
combine, it is known as :
a) Lateral combination
b) Circular combination
¢) Diagonal combination

d) Vertical combination

DHHRD 0 B0 IV SBY WO Dogeo 5028

RO DEHOLRED?
D) Ny, ;Loowns Q) HWNS Boows
Q) 8P Boans &) Dend) Boans
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22. Which form of business combination ‘mvolv'es the
integration of different types of inefficient units for
economies of scale?

a) Merger

b) Acquisition

c) Joint venture

d) Combination

?Og,ef 89 DRI 5900 DD U520 @‘cﬁéog 0RO

D886 & H65301S e Boows BB S0okooD.
D) Ddaeen D)  DBARLS
D) a3k o &) wahgso
23. Rationalisation is concerned with :
a) Improving profitability

b) Controlling wastage
c) Using efficient methods of production.

d) Tackling labour issues
SREDEISSEED DODOBODHO
D) RZLRADEBD B DOGSEO
B) Byeedd HADOBOEO
D) RDDGSOBHN S8 DSOS SHARBoSEo
&) =95 0RO DOYOOSEO

24. Rationalisation aims to bring reforms :
a) In a business unit '
b) In industry
¢) In consumer dealings
_d) In cost structure
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SPBODYESeD OGO BruEIoesERh off 0 HloD
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D) TRERS DeRtiod’

&) DOFEHS’

Q)  OVAIRID B,BIceeSs

&) W) dR,p0SS

What is the term for a temporary storage area that

compensates for differences in data rate and data
flow between devices?

a) " Buffer b) Bus
c) Channel - d) Modern

Geoe Géod 5000 HOB ot Ben HarsRod’ Bmei 5B
2 temporary storage area G, Ht5o He3?
») Buffer ®) Bus

&) Channel &) Modern

What is the acronym for LAN?
a) Local Area Network

b) Local Address Network
c) Line and Networking

d) Line-Less Network

[11] [PTO.
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LAN cng, 0088 0 H&oe?
®) Local Area Network

®) Local Address Network
®) Line and Networking

&) Line - less Networking . . .
27. Who social networks are organized primarily

a) Brands b) People
¢) Discussions d) Interests
e BSB0 HERVOP RISt T
») Brands ®) People
®) Discussions =~ &) Interests

28. Which of the following are objectives of Malware?
a) Provide remote control for an attacker to use

an infected machine
b) Investigate the infected user’s local network

c) Steal sensitive-data
d) All of the above

800 6P 585 Ok, ogp 00 507
@) DS abogeg SBARAOB@HS b I 55,88 03P
B0LPS0 ©0DOOR, |

D) VFEDS DODR Sy Vg, POE 3558, &
DHOSDOIOB. °

R) KQBEJD Beri G*0BDoEo
&) psg
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29. What is personal data?
a) Information that relates to a specific person

b) Itcan’t be access by unauthorized people
c) Bothaandb

d) None of the above mentioned
58058 B 9o HOed?
D) DY 5,88 Voo HERTREo
D) [O OHONE HKwd AR WoHedD
2) a oo b 3o
&) 5 DO ;B 5O BY
30. A term in computer terminology is a change In
technology a computer is/was being used.

a) Development b) Generation
c¢) Advancement d) Growth

gogm&b $HORHS® &8 DSo“term” IO LoRRE
SHARBRY DOSBBEBS® SRR

o) eg

B) B0

) HOS

8) DB

res vy N
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II. Fill in the blanks:
l. An transaction will not be called business,
£5,DBEH0BO R0 D DL0.
2. Internal trade is also known as
DOBLES HEBEHD &0 REP Bt PEORD
3. There is a principal and relationship in
_partnership.
IR 5006 50204500 OHEFTR EHOCTO
VO000L0 BOLDOS.
4. Co-operatives have management.

VLB HOFTED SOREZD0L BB 0630,
5. Location of plant is a decision taken at the time

(10 x 1 = 10)

of _
EROLDSENS RE0DHOSH Eroto DgoHo
6. When machines are placed in line it js called

layout.

Obogeoms oo Heato BSes BZE S0 30D

o5 0D aaena_gda.
7. Rationalisation js concerned with efficient methods
of
SroesoerdEses A8, 55 S8
—_— OBN B
FO0D0DODBO. . & = 05?
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Combinati i
mbinations happen to achieve common

SocSen PROLSEOB 235853200,
ISP stands for

ISP o0&

——————

Compromising confidential information comes
under

BERD, ODBRTRoY ool SoHso 80655
BROD.
SECTION - B

III. Very short answer questions: (A5x1=15

1.

SA-1097

Define Business Organisation.

VR o] QDORD DY, EDOoS0k.

What is the primary objective of business?
52 500 B0, DREHROE 5300050 HRe3?
Modern business.

SLB a:‘gsaﬁaéo
Name two qualities that are commonly found in a

successful businessman.
DO BOBRS RS B8 &° DRSO EODO

Bots egeFe HO° §908.
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5. What is the difference between a private company
and a public company.

BBe0B0RD, HPE BoD B0t e HBOCLI.

6. Mention one characteristic of a Joint Stock
Company. |
&P000e5 *RE BoDd eFsinen Begsm.

7. -Plant location.

 &goko Aessio

8. What is functional layout?
POESS Bo)eS OS5RSD0?

9. Explain the assumption of optimum size.
TOHOAD [oPeoxiBon] Hosimo DBOOTHB0.

10. What is the meaning of Business Combinations?
TP DAL, B0 57 OB ?

11. Name one characteristic of a business combination.
SRR B O30, 208 O Beyaw.

12. What is the primary objective of rationalization in
business?’

TR SR RIS g e OB D68
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13. What is CPU?

CPU ©063 50637
Define Internet.
K035 D DY, D00,
What is Firewall?

DB 903 HEE3?

14.

15.

Match the following:

Economic activities
Business

Limited liability
Unlimited liability
Right plant location

“oA W

6. Plant layout means  f.
7. Business combinations g.
8. Rationalisation h.
9. First generations i.

10. Symmetric encryption J.

[17]
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(10 x 1 = 10)

Joint stock companies
Sole trader
Production of wealth
Regular transactions
Helps in improving
standard of living of
people

Eliminate competition
Cost reduction
Arrangement of
departments and
equipments

Secret key

Vaccume tubes
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1. BRE 5ot Berdren

2. DogaRTO
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4. ©5OB 2006 PG

5. 05aRokn SPENS

™

6. apotn BoHes osm

7. S HahEso
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10. 230¢38 0, o0
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SECTION - ¢

V. True or False: (10 % 1 = 10)

1. A housewife cooking at home is a profession.

R0eY t§2768 S0to Wohtso ests 13,8,

2. Purchase of raw materials by a manufacture is a
trading activity.
S T EEHTRD §2%0H%en BoHo OB
8ot KIS BH,BDBEH0.

3. Liability of all partners is not unlimited.
OLSO gI¢TO 8000Es §IOL);E DODIEBDD.

4. A private company can not have more than 20
members.
oo DB Bodd 1505 DVEHe VoY 20 8 oD

&

EOLEBILEED.

5 Nearness to market cannot influence a decision
about plant location.
S700,6580 HHH0H? @O

DGO LgRHBE0 SoHED. o
6. Plant layout dependsupon the availability of space.

& €08008.
o5 500 0E5BD BFCD
nges' oD Y 25 —
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